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Instructions to the candidates:

1) Q. No. 1 and Q. No. 6 are compulsory.
2) Solve any 3 (Three) questions from the remaining question No.2, 3, 4 and 5.
3) Figures to the right indicate full marks.
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Q1) A) Fill in the Blanks (any 5) : [5]
i) The cost per unit means the _______ cost.

(Fixed Cost, Average Cost, Marginal Cost, Total Cost)
ii) In _______ the demand curve horizontal to 'OX' axis.

(Monopoly, Oligopoly, Duopoly, Perfect Competition)
iii) In _______ market type firm and industry are not different.

(Monopoly, Perfect Competition, Imperfect Competition, Monopolistic
Competition)

iv) The concept of 'Group balance' is studied in _______ market.
(Perfect Competition, Monopoly, Monopolistic Competition, Duopoly)

v) _______ is the income which goes to the owner of capital.
(Rent, Quasi rent, Interest, Profit)

vi) Profit is the income received to the _________.
(Land, Labour, Capital, Organiser)

B) Match the following pairs. [5]
       Group 'A'          Group 'B'

i) Economic Cost a) Product Differentiation
ii) Perfect Competition b) Kinky Demand Curve
iii) Monopoly c) Fictional Concept
iv) Monopolistic Competition d) Explicit Cost + Implicit Cost
v) Oligopoly e) Price Discrimination
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Q2) Explain the short-run and long-run cost curves with diagrams. [15]

Q3) What is mean by perfect competition? Explain the features of perfect
competition. [15]

Q4) What is mean by monopoly? Explain the features of monopoly. [15]

Q5) Explain the Ricardian theory of rent. [15]

Q6) Write Short Notes on (Any Three) : [15]
a) Average Cost and Marginal Cost
b) Firm and Industry
c) First degree price discrimination
d) Duopoly
e) Transfer earnings
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(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) àíZ H«$_m§H$ 1 Am{U 6 A{Zdm ©̀ AmhoV.

2) Cd©[aV àíZ H«$_m§H$ 2, 3, 4 Am{U 5 n¡H$s H$moUVohr VrZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.
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àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]
i) àVr ZJmbm òUmam IM© åhUOo ............. hmò .

(pñWa IM©, gamgar IM©, gr_m§V IM©, EHy$U IM©)
ii) .......... _mJUr dH¥$ hm "Aj' AjmU g_m§Va AgVmo.

(_ŠVoXmarV, Aën{dH¥o$Vm{YH$mamV, {Û{dH¥o$Vm{YH$mamV, nyU© ñnY}V)
iii) ............. `m ~mOma àH$mamV CÚmoJg§ñWm Am{U CÚmoJ `mV ôX Ho$bm OmV Zmhr.

(_ŠVoXmar, nyU© ñnYm©, AnyU© ñnYm©, _ŠVoXmar ẁŠV ñnYm©)
iv) "g_wh g_Vmob' hr g§H$ënZm ............. ~mOmamV Aä`mgbr OmVo.

(nwU© ñnYm©, _ŠVoXmar, _ŠVoXmar ẁŠV ñnYm©, {Û{dH¥o$Vm{YH$ma)
v) ............ ho ^m§S>dbmÀ`m _mbH$mbm {_iUmao CËnÝZ hmò .

(I§S>, Am^mg I§S>, ì`mO>, Z\$m)
vi) Z\$m ho ............. bm {_iUmao CËnÝZ AgVo.

( ŷ_r, l_, ^m§S>db, g§̀ moOH$)
~) `mo½` OmoS>`m bmdm. [5]

JQ> "A' JQ> "~'
i) Am{W©H$ IM© A) dñVŷ oX
ii) nyU© ñnYm© ~) ~mH$Xma _mJUr dH¥$
iii) _ŠVoXmar H$) H$mën{ZH$ g§H$ënZm
iv) _ŠVoXmar ẁŠV ñnYm© S>) ì`ŠV IM© + Aì`ŠV IM©
v) Aën{dH¥o$Vm{YH$ma B) _wë`^oX
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àíZ 2) AënH$mbrZ Am{U XrK©H$mbrZ IM© dH¥$mMo AmH¥$Vrgh ñnï>rH$aU H$am. [15]

àíZ 3) nyU© ñnYm© åhUOo H$m`? nyU© ñnY}Mr d¡{eï>ço ñnï> H$am. [15]

àíZ 4) _ŠVoXmar åhUOo H$m`? _ŠVoXmarMr d¡{eï>ço ñnï> H$am. [15]

àíZ 5) [aH$mS>m}Mm I§S> {gÕm§V ñnï> H$am. [15]

àíZ 6) Q>rnm {bhm. (H$moUË`mhr VrZ) [15]
A) gamgar IM© Am{U gr_m§V IM©

~) CÚmoJg§ñWm Am{U CÚmoJ

H$) n{hë`m XOm©Mm _yë` ôX

S>) {Û{dH¥o$Vm{YH$ma

B) ~Xbr CËnÝZ
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